MALAYA JOURNAL OF MATEMATIK

Malaya J. Mat. **10(03)**(2022), 198–203. http://doi.org/10.26637/mjm1003/002

Results using primitive function module

UMA DIXIT^{1*}

¹ Department of Mathematics, University Post Graduate College, Secunderabad, Osmania University, Hyderabad-500003, Telangana, India.

Received 23 January 2022; Accepted 25 May 2022

Abstract. A real or complex valued function defined on the set of all positive integers is called an arithmetic function and an arithmetic function is said to be completely multiplicative function if f is not identically zero and f(mn) = f(m)f(n) for all m, n. The objective of this paper is to present a result of completely multiplicative function of two variables using primitive function module.

AMS Subject Classifications: 11A07, 11A25.

Keywords: Arithmetic function, Multiplicative function, Primitive function module.

Contents

1	Introduction	198
2	Preliminaries	199
3	Main Results	200
4	Acknowledgment	203

1. Introduction

A real or complex valued function defined on the set of all positive integers is called an arithmetic function. An arithmetic function f is said to be multiplicative function in one argument if f is not identically zero and f(mn) = f(m)f(n) whenever (m, n) = 1. The function f(m, n) of two variables defined for pairs of positive integers m and n is said to be multiplicative in both the arguments m and n if f(1, 1) = 1 and $f(m_1 m_2, n_1 n_2) = f(m_1, m_2) f(m_2, n_2)$ where $(m_1n_1, m_2n_2) = 1$. Many identities have been established by various researchers discussed in [3, 7, 9].

Definition 1.1. An arithmetic function is said to be completely multiplicative function if f is not identically zero and f(mn) = f(m)f(n) for all m, n.

Definition 1.2. *Strongly Multiplicative function: A multiplicative arithmetic function* f *is said to be strongly multiplicative function if for every prime* P, *we have*

 $f(p) = f(p^2) = f(p^3) = \cdots$

Definition 1.3. An arithmetic function f(n, r) is said to be primitive function module r if $f(n, r) = f(\gamma(n, r), r)$ for all $\gamma(n, r) = \gamma((n, r))$.

^{*}Corresponding author. Email address: umadixit@gmail.com (Uma Dixit)

Results using primitive function module

Definition 1.4. An arithmetic function f(n, r) is said to be completely primitive function module r if f(n, r) = f(n', r') for all n, n^1 and all positive r, r' Such that

$$\frac{\gamma(r)}{\gamma(n,r)} = \frac{\gamma(r')}{\gamma(n',r')}$$

Let $g(\boldsymbol{r})$ and $h(\boldsymbol{r})$ be two arithmetic functions. Define

$$f(n,r) = \sum_{d|(n,r)} h(d)g\left(\frac{r}{d}\right)\mu\left(\frac{r}{d}\right)$$
(1.1)

and

$$F(r) = f(0,r) = \sum_{d|r} h(d)g\left(\frac{r}{d}\right)\mu\left(\frac{r}{d}\right).$$
(1.2)

2. Preliminaries

We use the following lemma proved by E.Cohen ([4], P404).

Lemma 2.1. Suppose f(n, r) is completely primitive module r. Then

$$f(n,r) = \sum_{\substack{d \mid \gamma(r) \\ (d,n) = r_1}} G(d) \Leftrightarrow G(r_1) = \sum_{d \mid r_1} f\left(\frac{r_1}{d}, d\right) \mu\left(\frac{r_1}{d}\right)$$

for any square free r_1 .

Lemma 2.2. Let h(v) is completely multiplicative function. Then $F(v) = h\left(\frac{v}{\gamma(v)}F(\gamma(v))\right)$. **Proof.** From (1.2), We have

$$\begin{split} F(v) &= \sum_{d|n} h(d) g\left(\frac{v}{d}\right) \mu\left(\frac{v}{d}\right) \\ &= \sum_{d\delta=v} h\left(\frac{v}{\delta}\right) g(\delta) \mu(\delta) \\ &= \sum_{d\delta=v} h\left(\frac{v}{\gamma(v)} \cdot \frac{\gamma(n)}{\delta}\right) g(\delta) \mu(\delta) \\ &= h\left(\frac{v}{\gamma(v)}\right) \sum_{d\delta=v} h\left(\frac{\gamma(v)}{\delta}\right) g(\delta) \mu(\delta) \\ &= h\left(\frac{v}{\gamma(v)}\right) F(\gamma(v)). \end{split}$$

Because of factor $\mu(\delta)$, since $\mu(\delta) = 0$ for square number. Hence ranging d over divisor of v or over divisor of $\gamma(v)$ is same. This completes the lemma.

Also we need the following result:

Lemma 2.3. Let g(r) be multiplicative, h(r) is completely multiplicative and for all primes $P, h(p) \neq 0, h(p) \neq g(P)$. Then $F(r) \neq 0$ for all r.



Uma Dixit

Proof. Since F(1) = 1 We may assume that r > 1. Note that $F(r) = (h * \mu g)(r)$.

F(r) is multiplicative, since h(r), g(r) and $\mu(r)$ are multiplicative functions. To prove $F(P^{\alpha}) \neq 0$ for all primes P and $\alpha > 1$.

Consider

$$F(P^{\alpha}) = \sum_{k=0}^{\alpha} h(P^{k}) g(P^{\alpha-k}) \mu(P^{\alpha-k})$$
$$= h(P^{\alpha}) - h(P^{\alpha-1}) g(P)$$
$$= h(P)^{\alpha-1} [h(P) - g(P)]$$
$$\neq 0.$$

Since $h(P) - g(P) \neq 0$, $h(P) \neq 0$.

3. Main Results

Theorem 3.1. If g(r) is multiplicative, h(r) is completely multiplicative and for all prime $P, h(P) \neq 0, h(P) \neq g(P)$, then $a(d) \qquad b(r) E((p, r))$

$$\sum_{\substack{d|r\\(d,n)=1}} \frac{g(d)}{F(d)} \mu^2(d) = \frac{h(r)}{F(r)} \frac{F((n,r))}{h((n,r))}.$$

Proof. Denote

$$J(n,r) = \frac{h(r)}{F(r)} \frac{F((n,r))}{h((n,r))}.$$
(3.1)

J(n,r) is properly defined since $F(r) \neq 0, h(n,r) \neq 0.$ By Lemma 2.2, we get,

$$\begin{split} J(n,r) &= \frac{h(r)h\left(\frac{n,r}{\gamma(n,r)}\right)F(\gamma(n,r))}{h\left(\frac{r}{\gamma(r)}\right)F(\gamma(r))h((n,r))} \\ &= \frac{h(r)h((n,r))F(\gamma(n,r))h(\gamma(r))}{h(\gamma(n,r))h(r)F(\gamma(r))h((n,r))} \\ &= \frac{h(\gamma(r))F(\gamma(n,r))}{h(\gamma(n,r))F(\gamma(r))} \\ &= \frac{h\left(\frac{\gamma(r)}{\gamma(n,r)}\right)}{F\left(\frac{\gamma(r)}{\gamma(n,r)}\right)} \\ &= \frac{h(m)}{F(m)}, \end{split}$$

where $m = \frac{\gamma(r)}{\gamma(n,r)}$. Thus

$$J(n,r) = \frac{h(m)}{F(m)}, \quad \text{where } m = \frac{\gamma(r)}{\gamma(n,r)}.$$
(3.2)



Results using primitive function module

Now we prove that

$$J(n, r)$$
 is completely primitive (mod r). (3.3)

That is, we have to show that $J(n,r) = J(n^1,r^1)$ for all n,n^1,r,r^1 with

$$\frac{\gamma(r)}{\gamma(n,r)} = \frac{\gamma(r^1)}{\gamma(n^1,r^1)}$$

By (3.2), we have

$$J(n,r) = \frac{h\left(\frac{\gamma(r)}{\gamma(n,r)}\right)}{F\left(\frac{\gamma(r)}{\gamma(n,r)}\right)}$$
$$= \frac{h\left(\frac{\gamma(r')}{\gamma(n',r')}\right)}{F\left(\frac{\gamma(r')}{\gamma(n',r')}\right)}$$
$$= J(n',r').$$

Therefore by Lemma 2.1, we have

$$J(n,r) = \sum_{\substack{d \mid \gamma(r) \\ (d,n)=1}} G(d) \Leftrightarrow G\left(r_1\right) = \sum_{d \mid r_1} J\left(\frac{r_1}{d}, r_1\right) \mu\left(\frac{r_1}{d}\right).$$

Consider

$$G(r_1) = \sum_{d|r_1} J\left(\frac{r_1}{d}, r_1\right) \mu\left(\frac{r_1}{d}\right).$$
$$= \sum_{d|r_1} \frac{h(d)}{F(d)} \mu\left(\frac{r_1}{d}\right) \quad \text{by} \quad (3.2)$$

which by multiplicativity of $\mu(r)$ and F(r) gives

$$= \frac{\mu(r_1)}{F(r_1)} \sum_{d|r_1} h(d)\mu(d)F\left(\frac{r_1}{d}\right)$$
$$= \frac{\mu(r_1)}{F(r_1)} \sum_{d|r_1} h(d)\mu(d) \sum_{D\delta = \frac{r_1}{d}} h(D)g(\delta)\mu(\delta),$$

where E = Dd. But

$$\sum_{d|E} \mu(d) = \begin{cases} 1 & \text{if } E = 1\\ 0 & \text{if } E > 1. \end{cases}$$

Therefore,

$$G(r_1) = \frac{\mu(r_1)}{F(r_1)}g(r_1)\mu(r_1)$$
$$= \frac{\mu^2(r_1)g(r_1)}{F(r_1)}.$$



Uma Dixit

Now we have

$$J(n,r) = \sum_{\substack{d \mid \gamma(r) \\ (d,n)=1}} G(d)$$
$$= \sum_{\substack{d \mid \gamma(r) \\ (d,n)=1}} \frac{\mu^2(d)g(d)}{F(d)}.$$

Theorem 3.2.

$$F(r)\sum_{\substack{d|r\\(d,n)=1}}\frac{h(d)}{F(d)}\cdot\mu\left(\frac{r}{d}\right)=\mu(r)\sum_{d|(n,r)}h(d)f\left(\frac{r}{d}\right),$$

where $f(n) = g(n)\mu(n)$.

Proof. Let

$$Q(n,r) = F(r) \sum_{\substack{d \mid r \\ (d,n)=1}} \frac{h(d)}{F(d)} \mu\left(\frac{r}{d}\right).$$

Let

$$Q(n,r) = F(r) \sum_{\substack{d \mid r \\ (d,n)=1}} \frac{h(d)}{F(d)} \mu\left(\frac{r}{d}\right).$$

Let r_1 and r_2 be the uniquely determined positive integers such that $r = r_1 r_2$ where $(r_1, r_2) = 1, \gamma(r_2) = \gamma(n, r)$.

Then

$$\begin{aligned} Q(n,r) &= F(r)\mu\left(r_{2}\right)\sum_{d_{1}|r_{1}}\frac{h(d)}{F(d)}\mu\left(\frac{r_{1}}{d}\right) \\ &= F(r)\mu\left(r_{2}\right)G\left(r_{1}\right) \\ &= F\left(r_{1}\right)F\left(r_{2}\right)\mu\left(r_{2}\right)\frac{\mu^{2}\left(r_{1}\right)g\left(r_{1}\right)}{F\left(r_{1}\right)} \\ &= \mu(r)\mu\left(r_{1}\right)g\left(r_{1}\right)\sum_{d|(n,r)}h(d)g\left(\frac{r_{2}}{d}\right)\mu\left(\frac{r_{2}}{d}\right). \end{aligned}$$

In view of the presence of $\mu(r)$ and the fact that $\gamma(r_2) = \gamma(n,r)$, we have

$$Q(n,r) = \mu(r) \sum_{d \mid (n,r)} h(d) g\left(\frac{r}{d}\right) \mu\left(\frac{r}{d}\right).$$

That is,

$$F(r)\sum_{\substack{d|r\\(d,n)=1}}\frac{h(d)}{F(d)}\mu\left(\frac{r}{d}\right) = \mu(r)\sum_{d|(n,r)}h(d)f\left(\frac{r}{d}\right),$$

where $f(n) = \mu(n)g(n)$.



Results using primitive function module

Remark 3.3. Substituting $h(n) = n^k$, $f(n) = \mu(n)$ and $F(r) = J_k(r)$ in Theorem 3.2, we get a well known identity known as Brauer - Rademacher identity.

$$J_k(r)\sum_{d|r}\frac{d^k}{J_k(d)}\mu\left(\frac{r}{d}\right) = \mu(r)\sum_{d|(n,r)}d^k\mu\left(\frac{r}{d}\right).$$

4. Acknowledgment

The author is thankful to the referee for his valuable suggestions which improved the presentation of the paper.

References

- [1] T.M. APOSTEL, An Introduction to Analytical Number Theory, Springer International Student edition, Narosa Publishing House, 1998.
- [2] T.C. BROWN, L. C. HSU, J. WANG, AND P. J.-S. SHIUE, On a certain kind of generalized number theoretical Mobius function, *The Mathematical Scientist*, 25(2)(2000), 72–77.
- [3] R.G. BUSCHMAN, lcm-products of number-theoretic functions revisited, *Kyungpook Mathematical Journal*, 39(1)(1999), 159–159.
- [4] E. COHEN, Arithmetical inversion formulas, *Canadian J. Math.*, **12**(1960), 399–409.
- [5] L. TOTH, Multiplicative arithmetic functions of several variables: a survey: In Mathematics Without Boundaries (2014), 483–514. Springer, New York, NY.
- [6] P.J. MCCARTHY, Introduction to Arithmetical Functions, Universitext, Springer, 1986.
- [7] P.J. MCCARTHY, Some Remarks on Arithmetical Identities, American Math. Monthly, 67(1956), 539–548.
- [8] I. NIVEN AND H.S. ZUCKERMAN, An Introduction to Theory of Numbers: Theory of Numbers-Montgomery, H.L. John Wiley, New York, 1991.
- [9] R. K. MUTHUMALAI, Some properties and applications of a new arithmetic function in analytic number theory, NNTDM, 17(3)(2011), 38–48.
- [10] R. SIVARAMAKRISHNAN, Classical Theory of Arithmetic Functions, in Monographs and Textbooks in Pure and Applied Mathematics, Vol. 126, Marcel Dekker, 1989.



This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

